the adjoining classes m :
x eet. In spite o 1 i i
discrete data. are sufficient] D f this logical difficulty,, when the

calculations as cont; Y large, they are treated for convenience of
i tinuous and hence are grouped in the same way as the
1in continuous data. group o

|/ Example 2.2 Make a-
the ‘Klowing data, relating to the

the apples picked out at random from 5 consignment.

106 107 76 82 109 107 115 . 93 187 98% 128 125

grouped frequency distribution from the
weight recorded to the nearest grams of 60

5 to 11 92 8 70 126 68 130 129 139 119 115 128
158+ 100 186 84 99 113 204 111 141 136 123 90 115
ole 88 110 78 185 162 178 140 152 173 146 158 194

- 148 90 107 181 131 75 184 104 110 80 118 82.
Jle, By scanning the data, we find that the largest weight is 204 grams

- and the smallest weight is 68 grams so that the range is 204-68=136
an grams. -
Suppose we decide to o take 7 classes of equal size. Then size or width

of the equal class interval would Iiel& = 19.47. But we ‘take h '%ﬂ.-
next integral “]‘! hichalbR ol

Letnsdeadc

-




r 0AFYLES B8  Thefolle
24 Colum™ | FREQU
1 e e —————
(i) By using? Tal ;IBUT 10N ok Frequengy | § Death Rat
FRrEQUENCY DIST m — 3.6-4.4
or Class” 9 4.5-5.4
o o 5.5-6.4
(woighty | bowndarle?_—= 10 s 6.5-1.4
65 — 84 64.57'@/'5,\' e T
W a8 @4@404'5‘ 114' :
105 124 |104.5-1245 [ 4’5
125- 144 | 124.5-1445 | 13%
154.5

145 — 164 | 144.5-164.5
165 — 184 | 164.5-184.5
185 — 204 [ 184.5-204.5
Total

Example 2.3 Given belo

1,000 at ages 20-65 in ea
grouped frequency distribut

75 .82 62 &
9.7 116 126 .8
103 101 10.0
106 91 97
(AR 7




The following table shows the regug;“n;;‘;ﬁ‘ﬁﬁin RATES

FREQUENCY DISTRIBUTIO N 7
rl)'eath Rates |Class-boundaries Tally " ,
[ 3.5-4.4 3.45—4.45 | 4

4.5-5.4 4.45-5.45 11 . :

5.5—6.4 5.45-6.45 L
6.5-7.4 6.45-7.45 | Ml 13
7.5-8.4 7.45-8.45 MM
8.5-9.4 8.45-9.45 U YU VR
9.5-10.4 9.45-10.45  |MN M Il
10.5-11.4 10.45-11.45 [N M
111.5-12.4 11.45-12.45 [N |
12.5-13.4 12.45-13.45  |llll
13.5-14.4 18.45—14.45 an s ol bel
Total ' i | wa e ;

"

*/Example 2.4 A survey of 50 retail
excluding proprietors, as follows:
2, 3, 9, c0, 4,74 -
2, 7, 6, 4, 8, 4, S .
5. 2 6 & SN
Arrange the values as a fre
By scanning the dats
discrete variable and the
sorted by taking the val
distribution is th

FREQUENCY

Nng




